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FRE 84 97, 692
YY) 4t
FRE 18 39, 222
NV 0. 1m3
FRE 18 28, 494
fREhn-7 1.5t
FRE 18 25,578
FEH) T 2kVA
FRE 54 11, 048
7" V=bavn pp- 40~60kg
FRE 18 3, 605
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= 1 164, 657
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Ry 0 0
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= 1 34, 040
BIGBRRYGET (
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B AT R e R s T
Ry 0 0
HURR A AT A ZEFLEC (LA
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TEHRALER T
= 1 71, 859
A TAT 7V bk 3m3
= 1 14, 406
LGy TAT 7V bk
m3 3 6, 891
ALy vy -k (SR
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S i SO
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= 0
B T HE
= 37, 653, 601
B ST e ¢
= 5,126, 674
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= 853, 625
Htre m
= 443, 921
B3 A 0D FETifk S AR R
= 443, 921
BUGERRYGEE (K5 1)
= 409, 704
HimE R (FE L)
= 4,273, 049
Wi
= 42,780, 275
BTk X=giiv oy
= 18,297, 841
R 5]
= 61,078,116
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= 1 62,510
HRHLEEE R 0yl Fa- I %4-200-1.2000
m 10 62, 510
5 e At L
= 1 3, 487, 320
FEARI B AT 1
= 1 1, 338, 000
=8 V= Gr=A-4E(J" =77 79)
m 100 1, 338, 000
5 1E Al T
= 1 2, 149, 320
HRPE (REIKT) B LA P1-1.1-3. OE(}" =77 79V)
m 100 1, 064, 000
HRPE (REIKT) B LA P1-1.1-3. 0B(} =77 79V)
m 100 948, 300
EMZARNEEN ¢ 100 L=200
L 20 137, 020
i T
= 1 2, 046, 000
N T
= 1 2, 046, 000
TR VARY VA PANNY VAR G
e 20 2, 046, 000
T A R A% 1
= 1 7, 236, 800
B AT R L
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HLHR 53 AT H=400 w] 282 (ZRFL2C- LAHD)
i 80 1, 660, 800
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i 80 1, 800, 000
I
= 1 124, 350
AT
= 1 124, 350
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= 1 1, 579, 400
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WEEEER
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A SR 2tHE
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A SR 458

FRE 100 264, 200
Ny s (v-v ) AtFE 2.9t

FRE 100 295, 400
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H 50 6, 380
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= 1 470, 630
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[T CREIRT - S575 B IEATH s | P1-1. 1-3. O
m 100 103, 300
[T CRERT - S5 74 B LA s | P1-1. 1-3. 0B
m 100 66, 530
Pk IE S T
= 1 207, 200
R = ES PUT-B300-1.2000
m 100 207, 200
T AT IR e R A s
= 1 159, 120
HURR S AT A ZEFLEC (LA
ZN 90 159, 120
[fTan
= 1 3, 829, 000
RImE T
= 1 3, 829, 000
i ek g = 150 A 0
= 1 2, 562, 000
AR B 50 A H
(&)
= 1 1, 267, 000
B L
= 1 22, 899, 590
Bl ¢
= 1 3, 746, 687
B LT ¢
= 1 312, 717
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AT A RiEUEE
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B3 Fa
0
S F e
15, 625, 996
TR
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& BIAE 2%
6, 265, 000
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